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Nội dung Điểm  
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Câu 2: 2 22 3 5 2 0x mx m m      1 điểm 
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Câu 3: 3  điểm 

a) 13sin
7

a    với 3
2

a    . Tính cos a , tan a  và cot a .  

 3 cos 0
2

a a      

 6cos
7

a    

 13tan
6

a   

 6cot
13

a   

 

– + + –  0   

5
2

 4  2    

Vế trái 

x    

0  

   Đề  số 2 



b)  Rút gọn :  cos3 cos sin 2
sin 2 cos
x x xA

x x
 




   

2sin 2 sin sin 2
2sin cos cos

x x xA
x x x

 



 

 
 

sin 2 2sin 1
cos 2sin 1

x x
x x

 



     2sin cos 2sin

cos
x x x

x


    

 

c)  Chứng minh : 
4 4 2

4 2
2 2 4

sin cos cos tan tan
cos sin sin

x x x x x
x x x
 

 
 

  

 
 

22 4 24 4 2

2 2 4 2 2 4

1 cos cos cossin cos cos
cos sin sin 1 sin sin sin

x x xx x xVt
x x x x x x

   
 

    
 

 
 

2 2
2 2

2 42

1 cos sin tan 1 tan
cos1 sin

x x x x Vp
xx


    


 

 
 

 
 

Câu 4: 2,5 điểm 
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